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M.A. (Economics) Third Semester
MALECQO-303 & 304 [Opt(i)]: Economics of Agriculture - |
(In all mediums)

Time allowed:; 3 Hours Max. Marks: 80

NOTE:
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VII.
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I1X.

Attempt five questions in all, including Question No. I which is compulsory and
selecting one question from each Unit.
X-X-X
Answer any ten of the following in about 25-30 words each:-
a) Why do we need farm organization?
b) What is agricultural production function analysis?
¢) What are forward linkages in agriculture?
d) What are the factors affecting agricultural production?
e} What are the features of Cobb-Douglas production function?
f) Explain the product-product relationship.
2) How does return to scale atfect a farm?
h) Explain the concept of agricultural productivity.
i)  What are the causes constant returns to scale?
1) How does farm size affect agriculture?
k) What is meant by agricultural transformation?
1) What is induced innovation in agniculture?
m) What is meant by supply response of farm producis?
n) Why forecasting of demand for food products is important?

0) Why is the analysis of demand for farm products important? (10%2)
Elucidate the nature and scope of economics of agriculture. What 15 the
interdependence between agriculture and industry? (15)

Examine the confribution of agriculture to the economic development of a
country. What are the challenges faced by the Indian agriculture? (15)

What is the importance of the analysis of factor-factor relationship? Explain
the various types of Factor-Factor relationships by giving suitable examples.

(13)
Write short notes on the following:
a) CES production function
b) Barrier to agricultural development. {2x7'%)
Explain the Schultz's theory of transforming traditional agriculture into modern
agriculture. Point out its significance and limitations. (15

State and explain the Mellor's model of agricultural development. What are its

points of criticisms? (15)
UNIT - 1V

Elucidate the nature and types of risks and uncertainties in agriculture, What

steps have been taken by the government to remove these risks and

uncertainties? (15)

What are the characteristics of supply of farm products? Outline the factors
atfecting the supply of farm products. (15)
X-X-X
(Hindi and Punjabi versions enclosed)
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